thS 1elA DABED , oBCFE &= AAZFgo|, P A S 5
Ao g 5t7 AF 2 Hlz|20 2 = o] 2 A3} uhit= y A olat
g of, M p o HFE vtEA vehd 227

D E F

A

(@) }
—
N
w
Hole -~




2.

o]
=

o], v0.025 S m o 3t
m m
@5 95

Ao vehye?
m
Dr oo

V0.025

/25 5 N0 m
1000 10v1I0 20 20




ok I e AKHA 0] Ful?

D 12

@ 14 @16 @ 18

® 20

Ym———d

/1
gﬁxw/gxx/l_: 16><§x16:

16




1 1

- = AlArsHAT
VE- B B+ B © VT

@V @2 OV @25  ©2V

(V5 + VB) - (V5= VB) _2V8 _ -
(G- VH(\o+8) 2




e 21831 gol Yols z

7]
2cm?, 8cm?2, 18cm?2 ¢l AHAALZE =

Hu oS 1Y

o] MFol2 4t} o, ] EXS n s | LB
olFoll =g o =9 dol= ! 2
2cm
@® 2V7em @ 8+v7cm ® 14VZem
@) 18 V2cm ® 20v2cm

&‘%014 §F ¥l dol= V2em, V8em, VI8cmO|BE
Folxl =g o] E99 o=

(V2+ V8 + VI8) x 2 +2 VI8
=(V24+2V2+3V2)x2+6V2
=12V2 + 6 V2 = 18 V2(cm)

NN




6. 4 +Axy+9y? = (Bx+Cy)? A 0], o] & THESh= Al A4 A, B, C
o Fe F?

O 14 @ 15 ® 16 @17 ® 18

B ‘

(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 4x% + Axy + 9y?

B=2 C=3 A=12

A+B+C=12+24+3=17




@ —6ax - 2bx = —6x(a + 2b)
@ ax®>+ay=a(x+y)
® a(x+y)-b(x+y)=(x+y)—ab
((4)—4x2 +16y% = —4(x + 2y) (x - 2y)
® x(2a-b) +2y(2a—b) —z(2a—b) = (2a - b)(x - 2y) — z

B

® -2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2z)




@ 2x-6 ® 2x-38

~&B

(x+4)(x-2)-7=x*+2x-15
=(x+5)(x-3)

S(x+5)+F(x—-3)=2x+2




o2 3 HIEA] 255 ARESto] YERjofdt sk A2?
D +0.49 @ 121 ® Vi
1
® \1 ©) voa
@D V049 = V0.72 = 0.7
@ V121 = V112 = 11
@ Vi=Vi2=1
1 1\% 1
® \/% - (3) -3
® 0.4 = AFS7FolUER V0.4 = HIEA] 235 AHE-51Y




10. 0<a<59 M, Va2+5-a - /(a—-6)2 2 7s] SFAAT, | =
x o] AdizkS YeRdL))

(@)a—l @ a+1 ® 3
@ 2a-3 ® 2a-1

B ~
0<a<5°9N4a>0,5-a>0,a-6<0
Va2 + 15 —al — /(a—6)2
=lal+|5—al —|a - 6]
=a+b5-a+a-6
=a-1




11. o= ZF 39 7P 7Pk =7

@2vz @2 ®2v3 @ 3v2 O 35

~&B

D2v2= V8
@ 2
®2vV3 = V12
@ 32 = V18
49
®35=1= /2
|3 Vool 2v2= VB 35= 1 = /D olrt
A7 Al 48 524 Aol e e oha 7t 2t
2.5 2/;— 3 3’5
wabd 3 3} 7P 7k 4 2432 ol




O
mlo
ol
4
>
&
1o,
u)
B>
r <]
,
Hu
8o
rlo
s,
o

B7]
@ 3<V3+1 O V3+1<V2+1
© Vis+1<4 ® 4- VT < VIT- T

@ VIl-V7>-7

P60 066 006 066 (ee

B

@3- (VB+1)=2- V3= vi-¥3>0

L 3>V3+1
© VB+1-(V2+1)=V3-+v2>0
SV3+1> V241
© VI5+1-4=+vV15-3=V15- V9> 0
LoVIE+1>4
@4—w/7—(«/ﬁ—w/7):4—\/ﬁ
=V16- V17<0
A= ANT< 1T- V7
@«/1_—«/7—(—«/7)=«/H>0
AN = VT > =7

b &2 A2 @, @°Io.




A= 5= o Vim AU A B CE e Mg

M)A, B, C @ A, C, B ® B, A C

g Vo
3
12 12
_ Ve J2B_ V1% 5v6 V5
100 100 10 2

watA A < B < C ©]t}.




14. V2=a, V6 =5 < o, Vv0.96 + V200 & a, b E ©]-&35}to] YEH

H?
1 1 2
@ 5a—|—1—01b @ 5a+2—01b @wa—i-gb
— 1 —b
@ 10a + 25b ® 15a + 50

96  V2ix6 46 2
V0.9 :\/—:—:i:—b
100 10 10 5
V200 = V2 x 100 = 10 V2 = 10a
2
- \0.96 + \/200:10a+gb




3Va—-4

15.
VI8

=3d o, a9 F2?

O 24 @22 ® 20 @ 18 ® 16

B

3Va-4 3Va-4x V2 _ Na-4x V2 _

VS~ 3vixve 2 ’
Va-4x V2=6= V36

(a—4)x2 =36

a—4=18

Soa=22




16. oh& TE AR Apolrt. ohg F Fol TE ol 5fo] 1

%S T 5 e AL
T 0 1 2 3
40 | 6.325 | 6.332 | 6.340 | 6.348
41 | 6.403 | 6.411 | 6.419 | 6.427
42 | 6.481 | 6.488 | 6.496 | 6.504
43 | 6.557 | 6,565 | 6.573 | 6.580

@® 6.431 @ 6.287 @6.573 @ 6.590 ® 6.661

® & ALY o AE AFEEA Sk




17. V59 44 BB 42t & o, 42 - (2+ V5)a+4 V5] FHS 510

o,
> [l J
> He: o8

a= V5-2
= (V5-2)% -

a®>-(2+ Vh)a+4+5

=5-4v54+4—

(24 V5)(V5-2) + 45
(5-4)+4V5=8




18. the1wy Zo| AEBH 91°) HAZE OABC o4 OA = 0Q,
BC =BPeIth. £ AP, QO x H7E 47 p, g2t Z W, p+g 9
ahe Fotofar.

p:4—2‘/§
g=0+2V2=2V20]22
p+q=4-2V2+2V2=40]c},




19. V22 @xﬂzmgm,o&#xﬂa%%ma}.
B

| 2
> A x=4

/8 / 8
— 28 = /22X = X2
V22 x 77>< 8 ><77><8

=8=4vV1
4yx=4VAolBR x=4




20. ©= E7|9 A, B, C, D, E oA 7F 2 9 /M 22 49 527

H7]
5 V= AV © VEXFRG ~ B
©3Vi+1B=Cv @ 22D
® V021+ VT =EV3

=
[=

>
D pal= 1

oHd =

B

@ VEx5x3=5v3, .. A=5
© V102x3=10v3, . B=10

©®7V3 ~.C=7
3v2V6 6 - o
®\/6\/€_6\/§_\/§’ D=1

[P 1 [3 1 .

P20, M RS 501
©10x01=1




21.

VI o 2% RES a, 245 o 45 $EE b F @
a’ — b® + a®b — ab?

of g o2

a—-b

® 13 @ 15 @18 @ 20 ® 24

B

4<VI8<50|E& g = +I18-4
4<V20<50B2 p=4
a+b= V18

a(a® = b?) + b(a® - b?)

ala —I-b)(a IZJ)) +b(a+b)(a-D)

)

_(@=b)a+b)f”
B a—b

= (a +b)?

—18




22, xy=4,x2+y? =8 L o], x> +3 o & Tt (o x+y>0
)

=
[=

[ 2
> =g 16

S5 ~
(x+¥y)?2=x>+y>+2xy=8+2x4=16

x+y>00]BZ x+y=4

( +y)(x+y) = 2* + 3 + ay(x +y)

8xd4=x3+y>+4x4

¥ +y>=32-16=16




23. 21/4/8+1024 ¢ ZHS FL5toiat.
=t

| 2
|> HMeFr 16

od =

~&B

21/4/8V1024 = 21\/41/8/(2%)*
= 2v4V8x 25
= 2V4 x 24
=92x23
=924




24. V2la 9 gol AAG7} H T A 495 q

Fafolat,

> " 3

rr

gtk

.. 370k

V24a 7} 4457} 57] YA 240 = SAAFSIF =ojof

24 =23 x 3 0|8 7P 2+ AL ¢ 9] ghe 6 o]t}
weba] F21e] S5 6x 22, 6% 32, 6 x 42 Bo|r},




207% — 1342

25. S PRTTLR S Alatstoigt,
» £
> Hg: 1
(24]) = (207 + 134) (207 — 134)

52 4 21) (52 — 21
_34g><73_)( )

T 73%x31




